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2006
GENERAL STUDIES

Paper 1

Time - 3 Hours | [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Tickel issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the

Admission Ticket.

Candidates should attempt questions from all Parts.

The number of marks carried by each question is indicated

with the question.

The length of the answers should not, as fur as possible, exceed

the specificalion given for the question.
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PART A

Answer any fwo of the following questions in not more than 200 - 250
words each 20%2=:1()

{a}  Discuss the statement that the British conquered India “in a fit of
absent-mindedness”.

(b) Comment on the view that modern Indian nationalism was the
cxpression of the aspirations and frustrations of the emergent
middle class.

(c} Point out the contributions of Sir M. Visweshvaraiah to the
modernization of Mysore.

(d)  Trace the stages in the unification of Karnataka.

Answer any four of the following questions in about 100 - 120 words
cach : T(xd=:4(}

(a)  Summarize the arguments of the “Drain theory”,

(b}  Was Chauri Chaura reason enough for the suspension of the
Non-Cooperation Movement ?

(¢} How Gandhian was the ‘Quit India® Movement ?
(d} Bring out the peasant content in the Nagar Rebellion.

(e} Can the work of Tipu Sultan be described as “confronting
colonialism” ?

(f)  Highlight the work of Dr. Shivarama Karanth in popularizing
sclence.

Answer any fwo of the following questions in about 50 -- 60 words cach

{(a) Write a note on the contributions of Mrs., Annie Besant Lo the
flome Rule Movement.

{b}  Why did the Congress ministries resign in 1939 7

(¢} Outline the impact of the Indian National Congress in the
Hyderabad-Karnataka region during the Freedom Struggle.
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(4)
Write bricel noles on all of the following in about 20 — 25 words each :
{fa) The ‘Black Hole’ of Calcutta
{(h) Gandhi-Irwin Pact
{c) Aihole
(d} The element of social protest in Bhutaradhane

(e) Field Marshal K.M. Cariappa
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PART B

Answer any three of the following questions in ahout 200 — 250 words
each 20x3=61

(a} Discuss the contradiction between developmeni and conservation ol
nature. What position would you take if the option were either one

or the other ? Delend your answer.

(b} DBring out the details of the nuclear deal between India and the
United States of America. Is it in accordance with India’s
Non-Aligned foreign policy ?

(c) Highlight the impact that the resurgent Chinese economy has had

in reshaping inter-state relations in Asia.

(d) Give a schematic account of the categories for reservation employed
by the Havanur, Venkataswamy and Chinnappa Reddy
Commissions for the socially and economically backward classes.

(e} [xamine the major problems faced by the Karnataka film industry

in reeent years.

(f} Do you think that poverty and unemployment arc inter-related
problems ? If so, how have our national economic planners been
atiempting  to alleviate poverty through employment generation
programmes since 2002 — 03 7

(g) Examine the Micro-credit system introduced by Muhammed Yunus.

Answer any six of the following gquestions in about 100 — 120 words each :
1 0xb=h1)

{a}  llighlight 1the salient features of the anti-monarchical and

democratic movement in Nepal in the last two years.
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(b} How has the United States of America reacted to the nuclear
programme of North Korea ?

(¢} Menliion the main provisions of the RTI Act.

(d) Discuss the 1implications of the proposed Greater Bangalore
Authority for seolving infrastructurc-related problems.

(e) Highlight the major policy measures initiated by Karnataka to
retain children aged 6 — 14 years in school.

(i  What are the measures taken by the Government of Karnataka to
rectify regional imbalances 7

(g} Analyse the main sources and problems of non-institutional sources
of credit to the Agricultural sector.

(h)  Discuss the recommendations of the Mahajan Commission regarding
the boundary dispute between Karnataka and Maharashtra.

(1) Assess the coniribution of the corporate sector to the promotion of
sports in India.

{1 Our urban complexes are not equipped to face natural disasters. —
Do you agree ? lllustrate your answer with the recent flooding of
Mumbai caity.

Answer any four of the following questions in about 50 — 60 words each :
5x4=20

{a) dustify India’s claims to a seal in the Security Council.

(b)  What are the main aspects of the Common Minimum Programme of
the UPA Government ?

(¢} Highlight the main provisions of the award of Cauvery waters by
the Tribunal in 2006,

(d)  Account for the suceess of the Indian Railways in recent months.
(¢) Discuss Wind as a non-conventional source of energy in Karnataka.

(f) LExplain the importance of gender-budgeting for Karnataka state.
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8. Write brief notes on all of the following in about 20 - 25 words each :

https://www.freshersnow.com/previous-year-question-papers/

Ball tampering
Amitabh Bachchan
“Gandhigiri”

The Koragas

Datta Peetha tradition
Lashkar-e-Taiba
Magsaysay Award
Michael Schumacher

Kiran Desai’s Booker Prize winning novel

Minimum Support Price
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PART C

(a) State whether the following statements are true or false. Justily
your answer :

(i) Smitha travels from Bangalore to Hassan at a speed of
40 kmph and returns at a speed of 60 kmph. The average
speed during the entire trip is 50 kmph.

(ii) In a locality with outbreak of cholera, 60% of the inhabitants
were attacked while 70% had been inoculated, The minimum
percentage of persons who were inoculated but attacked is 10.

(iii) The salary of a person is first increased by 20% and then
decreased by 5%. The net increase in salary is 15%.

(b) The table given. below shows the distribution of the life-time of 400
clectric tubes !

“Lifc-timo (hours) No. of tubes
300 — 399 14
400 — 499 46
500 - 599 58
600 — 699 76
700 — 799 68
800 — 899 62
900 — 999 48
1000 — 1099 22
1100 - 1199 6

Find the percentage of tubes whose life-time is

(i) at the most 599 hours.

(ii) at least 600 hours but not more than 999 hours.
(iii) less than 700 hours or more than 1099 hours.

{(iv) more than 1200 hours.
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(¢) Distinguish between
(i)  Bar diagram and Histogram
(i1) Scatter diagram and Ogive curve

State how these diagrams are useful in data analysis.

10. (a) Illustrate, by a suitable diagram, the following data on the
expenditure of a typical middle class household :

Item Percentage of Total
Expenditure
Food 50
Clothing 15
Housing 15
Fuel and Light 7
Education 8
Miscellaneous 5

(b) In the set-up of (a) given above, find out the actual expenditures, if
the total expenditure is Rs. 12,000.

(c) The following values of related variables x and y are given :

X 4 10 12 14 20
y 6 16 40 42 46
(i)  Compute Pearson Correlation Coefficient r and 100r>.

{ii)  Interpret statistically the values obtained in (i).

{in) If every value of x is doubled, what will be the new value
of r ? Give reasons.
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300

INSTRUCTIONS

Fach question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Adinission Ticket issued to you, which nmust
be stated clearly on the cover of the answer book in the space
provided  for this purpose. No credit will be groen for the
answers written in « medium other than that specified in the

Adinission Ticket,

Candidates should attempt questions from all Parts.

The number of marks carrvied by each question is indicated

twith the question.

The length of the answers should not, as far as possible, exceed

the specification given for the question.
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PART A

Answer any one of the following questions. Restriet your answer to

200 — 250 words cach

(a)

(b)

Discuss the causes of the growing importance of regional parties in
Indian politics.

Ts there a justification for a bicameral legislature, when most of the
state legislatures in India are unicameral ? Substantiate your
answer taking Karnataka as a case in point.

Answer any three of the following questions. Restrict your answers

to 100 - 125 words each :

{a}

th)

(c)

{d)

(e)

Highlight the major inadequacies in the anti-defection law after the
amendment of 2003.

Examinc the impact of dominant castes shaping mainstream politics
in India.

Are voting studies useful in the political sensitization of the
clectorate in India ?

What are the legal devices available in India for the protection of
the freedom of Press ?

How uscful is reservation for SCs and STs in legislatures 1n
representing their special grievances and interests 7 Comment,

Answer any four guestions. Restrict your answers to 50 — H5 words cach :

fa)

(b)

{c)

5x4=20

Give a brief account of the composition and functions of the
National Commission for Religious and Linguistic Minorities.

Outline the policy of the Government of India towards the
physically challenged.

Bring out the role of Kanshiram in Dalit awakening in India.
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{d)

{e)

(f)

{4

Do smaller states perform better in India ? Answer, keeping
Chattisgarh or Goa In view.

“The media in India sensationalizes issues. It does not build public
opinion.” — Comment.

Discuss the linguistic pluralism in Karnataka.

4. Write short notes on the following. Restrict your answers to 20 — 25 words

each.

fa)
(b}
{c)

(d)

10x2=20
Kannada — a classical language
Tawang Controversy

Nanavati Commission

Oversight Committee

Inter-State Council

National Highways Authority

Nimrana Casc

‘Office of profit’ and Elected represcentatives
Bharativa Kisan Union

Research and Analysis Wing (RAW)
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PART B

Answer one of the following two gquestions. Restrict your answer to
200 words : 20%x1=20

(a) Explain the main objectives and structure of national economic
roforms in India since 1991. Show whether or net the components
of cconomic reforms are similar between the National and the State
levels.

(by Describe the major objectives and principles of World Trade
Organization. Mention the main agreements of World Trade
Organization.

Answer fthree of the following five questions. Restriet your answers to
100 words each : 10x3=30

(a) List the major sources of revenue for the village panchayats in

Karnataka., What have been the significant reforms in this regard ?
(b} Analyse the process of decentralized planning in Karnataka State.

(¢} Who are targeted by the ‘targeted” Public Distribution System 7

Explain your answer with reference to Karnataka State.

(d) Explain the indicators in the construction of the National Human
Development Index in India.

(¢} What does “PURA” mean ? Answer, with special reference to the

Suvarna Gramodaya initiative in Karnataka.

Answer any four of the following six guestions in about 50 words cach :
Sxd=20

(1) Mention the major ilems of agricultural and non-agricultural

exports {rom Karnataka State.

(by Distinguish the important strategies for reduction in the revenue

deficit of the Government of Karnataka.

(¢) Explain the major source of indircet taxes of the Government of
India.
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o sohOTess | x1=20

(1) TZRELT Dphod wmE Uf) NYETIE B 3A W FND Tene
gR0eST WOZ NG olepey ?

th Smoril® IT|ETw BLSs SRUZOLY SNHTE, FRRcQTT TEne
SCTRLTTODMYRY, 253

{e U TT0e 0w TEptE. 01NNy IonD SRONYE, QEDA.
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BIb;

(d)

(e}

(f)

Write a bricef note on cach of the following in about 20 words each :

fa)

(hi

{h)
(1)

{J)

gy

Highlight the major targets and objectives of Karnataka’s New

Industrial Policy 2006 — 2011,

Explain the major justifications for establishing Special Economic

Zones (SEZ) in India.

What are the monitorable indicators for education and literacy in

India’s Tenth Five Year Plan ?

Karnataka Elccetricity Regulatory Commission
Central Statistical Organization

National Sample Survey Organization
Karnataka Udyog Mitra

Sccurities Exchange Board of India

Bilateral Exchange Rate

Prime Lending Rate

Priority Secctors in Banking

Net National Product

Tele-density
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DD

10.

(10}
PPART C
Answer any one question. Restrict your answer to 200 — 250 words.
20x1=20
{a) Discuss the salient features of Decean Trap.
(b) Critically examine the Hydel power resources of Karnataka.
Answer any one question. Restrict your answer to 100 - 150 words.
10x1=10

(a) Bring out the salient features of the Cauvery river system.

(b) FElucidate the geographical factors responsible for variation in
population density in Karnataka.

11. Answer any fwo questions. Restrict your answers to 50 words ecach, 5xZ=10

(a) Highlight the geographical factors responsible for Dairy development
in India.

(b) List the uses of Meteorological satellites.

(¢) Give an account of Manganese production in Karnataka.
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10.

11.

{11) DD

CIRPHITOTA  wold: ZZR wuzda. N, GDZT 200 - 250  mmrer

e deTntoN ot ATEAR
20x1=20

s

(0} 3T & =y Qb VEENY 21 Wi,

(b Frasg m:-s:;mﬂyf zjoasméomfﬁg{ ammw&smﬁ TBBeO.

CIRPEOTL  wod IR MFOA. AT, WIT 100 - 150 SRR
wL T30, 10x1=10

[}
tht swruso REFoR, Womdond  FomiuoH DR A Dlefrtwpiw
WENRCYF 2oz vy oXENEy ?

CRHTTTe ST =3 non GOZBA. R, WET  Fen 50 oo

o TnTokT ot A0 Sx2=10

far oRUIE CNapIo VRFON TITBTT o ReeYE oy STy,
(thi =wz -&@5396 (Meteorological) FoWoHATOZ OB BN
TOSREBITY;, TETRE
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B0

{12)
PART D
12. Answer any one of the following questions. Resirict your answer Lo
200 - 250 words : 20x1=20
(a) Clmate change is becoming the single largest threat to the world.

13.

14.

(b}

How does this affect India ?
What is ‘Organic Farming” ? How s 1t expected to solve the
problems/ill-effeets of modern agriculture ?

Write brief notes on any four of the following. Restrict your answers to
100 — 120 words cach. 10x-4=-10
tar  Acid Ran

(h1  Ecological footprint

(¢; Municipal Solid Wastes (MSW) and Supreme Court guidelines

(dy Jaipur foot

(el WINDOWS VISTA

(fy  Global Positioning Sysiems

Write short notes on ell of the following. Restrict your answers to 20 - 25
words cach. 10x2=20
(a} Tele-medicine

iby  Mobile computing

tet Bt Cotton

idr  MP4

ter MEMs

() Biomethanation

(g}  Amorphous Silicon

thy  LED

(iy  Salinization

{j)  Chikungunya
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13.

14,

(13) DD
won D

CENS OINYITTR wods TIN 0L NS, VBT 200 8 250 TonY

cesondoeless 20x1=20

(@) HIITHCTY  JA0ET  WTRTBOID wran WEBAY  BmOD
LB wEF Wondoinmmhid. wach uEr e 2R 5omas
oL ?

(b “moshs IR oot ? wqﬁa?&?%& 353’30& Nm‘:jﬁf
ééﬁa’bmmrﬁeﬁ& QLS TeEr NTORLYES ?

FENT OIRTYTRTTR ey, TENIR evgdL. B ioleomd WITFR 100 dory
120 ane &‘0:%033@0’:3@5‘3. 10x1=40
VAR v linets

i) \?:SE)T&TO?EJE mﬁng’JE‘b

¢) EHTRION FESRENG (MSW) o) NTE €Ly, SROIVVOLE TRNEFTEE

N\J':'.d s
vd) %J@Ue Tolid
(e} WINDOWS VISTA

th eomas @”&@Edm ﬁéaémfa

TYNT QQ@NYnse 8008w 3 2ddld. T Bodecom WZTTH 20 dodm 25
BINY DHILHYTLew. 10%2=20

(v 29Doass

(h) Ei'aa%eﬁ‘ FomRLIoNT
(¢ 2L &2

< MP4

(i MEM s

(1 2odacsdhglewst
(i emUT 28zf

{h LL'iI)

(1) erdesTes

U a2t
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